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6. What is the hydrogen ion concentration of a solution with a pH = 4.54?

2.9x 10"
1.1 107
7.8 x 107
2.9x107°
25010
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7. Identify the following acids in terms of increasing acid strength.
HSO4, HOCIL, HCI, HF

HOCI, HSOy', HF, HC1
HSO4, HCl, HOCI, HF
HF, HSO4, HC1, HOCI
HSO4, HOCI, HF, HCl
HOCI, HF, HSO4', HCI
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8. What is the pH of an 8.61 x 10™* M solution of the weak acid, HOCI?

10.52
5.26
4.80
7.46
3.06

iRl

9. What is the pH of an 8.45 x 10™ M of HBr solution?

3.07
7.08
1.54
10.93
6.92
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10. What is the pH of an 1.25 x 10 M solution of the weakly basic salt, NaOCI?

A. -9.27
B. 6.54
C. 9.44
D. 7.46
E. 10.36

11. What is the value of K, for Ca(I0s), if the equilibrium concentration of Ca’" =5.62x 107

1.26 x 10™
1.78 x 107
5.62 x 10™
295 % 107
7.10 x 107

mo QW
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12. What is the pH of a 650 mL solution that contains 250 g of HNO, and 100 g NaNO,?

3.90
2.78
3.75
295
2.05
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13. What is the molar solubility of MnCO; if 5.3 X 10 M Na,COs is added to the solution?

A. 23x10"
B. 48x10°
C. 6.6x 10"
D: 7.3% 162
E. 4.3 % 107

14. What is the pH of a solution after titrating 200 mL of 0.100 M NH,OH to the equivalence
point with 200 mL of 0.100 M HCI?

10.44
4.52
5.82
3.62
9.48
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15. Identify the following in order of increasing solubility
PbFz, MnCO3, SI'F2

PbFz, MIICO3, SI'FZ
PbFz, SI‘Fz, MIICO3
MnCQOs, SrF,, PbF;
SI'Fz, PbFz, MHCO3
SI‘Fz, MIICO3, PbFz

HFOQW»

16. What is the pH of a solution after titrating 25.0 mL of 0.500 M HCOOH with 15.0 mL of
0.500 M NaOH?

8.78
357
3.91
10.43
52
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17. What is the pH of a solution after 65.0 mL of 0.250 M HI is titrated with 25.0 mL 0.500 M
NaOH?

A. 1.20
B. 2.08
L. 138
D. 12.80
E 1192

18. What is the concentration of CN in a saturated solution of Zn(CN),?

4.0x10°
2.5x%x10"
2.8 %107
1.3x10™
8.0/x10"2
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19. Which of the following combinations will result in a buffer solution?

NH3 and CH3NH2
KOH and NH;
KCl and HC1

HF and HBr

HBr and NH3

mo QW

20. How many grams of NaF should be added to 60.0 mL of 4.32 M HF to make a buffer at pH
4.00?

79
230
14
36
26
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